Math 163
14.5: The (Multivariate) Chain Rule
Questions for flipped class
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{Solution or Explanation
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{Solution or Explanation
3y cos x =32 + 2, so let Flx, y) = 3y cos x —x2 —y2 = 0. Then
dy __Fx__-dysinx-2x_ 2x+3ysinx

dr B 3cosx-2y 3cosx-2y
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‘Solution or Explanation
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Use the Chain Rule to find dw/dt.
w=xe"’?, x=£, y

8+ 7t
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Use the Chain Rule to find 82/8s and dz/0t.
z=x%3, x=scos(t), y=ssin(t)




image3.png
Use the Chain Rule to find 82/8s and dz/0t.
z=elcos(6), r=st, 8=\F+E
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Use a tree diagram to write out the Chain Rule for the given case. Assume all functions are differentiable.
=flx,y), wherex=x(r,s, t),y=y(rs, ¢t
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